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UU PAPER-6 (Aptitude Test for MBA/MCA)

English Language : Q. 1 to Q. 25

Numerial Aptitude  : Q. 26 to Q. 50

Thinking & Decision Making : Q. 51 to Q. 75

General Awareness : Q. 76 to Q. 100

001. ….. word to the wise is sufficient. 

 (A) an  (B) a

 (C) the (D) zero article

002. Choose the correct one:

 (A)  The majority accepted the latter 

proposal.

 (B) The majority accepted the later proposal.

 (C) Both of the above 

 (D) None of the above

003. Synonym of ‘defend’.

 (A) Protect (B) Shelter 

 (C) Preserve (D) None of the above

Paper 6 (English Language)

004. Synonym of ‘ Obtain ’:

 (A) Gain  (B) Invent 

 (C) Associate  (D) Empty 

005. One who takes pleasure in torturing others-

 (A) Bestial  (B) Sadist 

 (C) Cruel (D) Barbarous

006. Antonym of ‘Arrogant’:

 (A) Gloomy  (B) Idle

 (C) Miserable  (D) Humble

007. Antonym of ‘compliment’:

 (A) Hate (B) Insult

 (C) Guilty (D)  Slow
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008. A government by the people-

 (A) Monarchy (B) Aristocracy

 (C) Democracy (D) Oligarchy

009. Choose the correct one:

 (A)  It was left to Virat to hit a majestic six 

and take India to a historic win. 

 (B)  It was left to Virat to hit a Majestic six 

and take India to a historical win.

 (C)  Both of the above 

 (D) None of the above

010. Earlier, I……. contact you. 

 (A) could not (B) cannot

 (C) would not (D) None of the above

011. Choose the correct one:

 (A)  I had finished my lunch before the kids 

had come from school.

 (B)  I had finished my lunch before the kids 

had been come from school.

 (C)  I had finished my lunch before the kids 

has come from school.

 (D)  I had finished my lunch before the kids 

came from school.

012. Choose the correct one:

 (A)  We were expected to win, but we lost.

 (B) We are expected to win, but we lost.

 (C)  We had been expected to win, but we 

lost.

 (D)  We have been expected to win, but we 

lost.

013. Choose the correct one:

 (A)  I always get my car serviced at this 

service station. 

 (B)  I always get my car servicing at this 

service station.

 (C)  I always get my car service at this 

service station.

 (D)  I always got my car serviced at this 

service station.

014. ……...is believing.

 (A) Seeing (B) Saw

 (C) Seen (D) None of the above

015. He admitted being there …. the time of the 

crime.

 (A) at  (B) on 

 (C) by (D) with

016. Stop talking … me in such a rude manner!

 (A) with  (B) to

 (C) on (D) at

017.  ………. is often painful.

 (A) Wait (B) Waiting

 (C) A wait  (D) The waiting

018. …….you are a genius, you cannot solve this 

puzzle.

 (A) Unless (B) Until

 (C) Either  (D) Neither 

019. I … because you invited me.

 (A) come (B) had come

 (C) came (D) comes
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020. Choose the correct one:

 (A) They thanked us.

 (B) They thanked we.

 (C) They thanked our.

 (D) None of the above

021. Even though she’d read her supervisor’s 

memo four or five times, she still found 

his  rambling message ambiguous. Pick the 

word that is closet in meaning of the word 

‘ambiguous’.

 (A) profound (B) inspiring

 (C) ridiculous (D) unclear

022. The technical department enthusiastically 

hired Ms. Sonali because she was proficient 

in the use of computers. Pick the word that is 

closet in meaning of the word ‘proficient’.

 (A) sincere (B) adequate

 (C) competent (D) skilled

Questions 23 through 25 refer to the following 

passage:

 Charles Darwin was born in 1809 in Shrewsbury, 

England. He was a biologist whose famous theory of 

evolution is important to philosophy for the effect it 

has had on ideas relating to the nature of men. After 

many years of careful study, Darwin attempted to 

show that higher species came into existence as a 

result of the gradual transformation of lower species, 

and that the process of transformation could be 

explained through the selective effect of the natural 

environment upon organisms. He concluded that the 

principles of natural selection and survival of the 

fittest govern all life. Darwin’s explanation of these 

principles is that because of the food supply problem, 

the young of any species compete for survival. Those 

young that survive to produce the next generation 

tend to embody favorable natural changes that are 

passed on by heredity. His major work that contained 

these theories is On the Origin of the Species, written 

in 1859. Many religious opponents condemned this 

work.

023. Which of the following statements supports 

Darwin’s belief about the origin of all 

species?

 (A) Man is descended from monkeys.

 (B)  All life forms developed slowly over 

time from lower life forms.

 (C)  Natural forces do not affect life on Earth.

 (D) All species were individually created.

024. Darwin’s explanation that the young of any 

species compete for food and survival, and 

those that survive are strong and pass their 

traits on to their young was called which of 

the following?

 (A) belief in creationism

 (B) the catastrophic theory

 (C)  theory of natural selection and survival 

of the fittest

 (D)  the study of anthropology

025. According to the passage, how was Darwin’s 

book, On the Origin of the Species, received?

 (A)  Scientists gave their immediate approval 

of Darwin’s book.

 (B)  Religious opponents condemned 

Darwin’s book.

 (C)  The world ignored Darwin’s book.

 (D)  Darwin’s book became an immediate 

bestseller.
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026. A regular polygon has external angle 36°. 

Then the number of sides is 

 (A) 6 (B) 8

 (C) 10 (D) 12

027.	 In	ΔABC,	∠B=90°, AB=12, BC=16. Let D,E 

be points on AB and BC respectively so that 

DE=10. Then AE2 + CD2 equals.

 (A) 356 (B) 500

 (C) 544 (D) 578

028.	 A	goat	is	tied	to	a	rope	fixed	at	the	centre	of	

a	square	field	so	that	the	length	of	the	rope	is	

one	third	of	the	length	of	the	side	of	the	field.	

If	 the	 goat	 grazes	 all	 the	 grass	 in	 the	 field	

within its reach, the percentage of leftover 

grass is

 (A) between 30° to 40°

 (B) between 40° to 50°

 (C) between 50° to 60° 

 (D) between 60° to 70°

029. Which of the following statements is FALSE?

 (A)  Triangles with the same base and within 

same parallel lines have the same area

 (B)  The diagonals of a rhombus bisect each 

other perpendicularly. 

 (C)  The diagonal of a rectangle bisect each 

other perpendicularly. 

 (D)  In a triangle, perpendiculars drawn 

from vertices to the opposite sides are 

concurrent. 

026. EH$ g‘~hþ^wO H$m ~{hîH$moU 36° h¡& V~ CgH$s 

^wOmAm| H$s g§»`m h¡

 (A) 6 (B) 8

 (C) 10 (D) 12

027. ∆ABC ‘|, ∠B = 90°, AB = 12, BC =16. 

‘mZm {H$ D Am¡a E H«$‘e… AB Am¡a BC na Eogo 

q~Xw h¢ {H$ DE =10. V~ AE2+ CD2 ~am~a h¡

 (A) 356 (B) 500

 (C) 544 (D) 578

028. EH$ ~H$ar añgr go EH$ dJ© joÌ Ho$ H|$Ð na Bg àH$ma 

~m§Yr J`r h¡ {H$ añgr H$s b§~mB© dJ© H$s ^wOm H$s 

b§~mB© H$s EH$ {VhmB© h¡& `{X ~H$ar AnZr nhþ§M Ho$ 

^rVa Ho$ joÌ H$s g^r Kmg Ma OmVr h¡, Vmo ~Mr hþB© 

Kmg H$m à{VeV h¡

 (A) 30° Amoa 40° Ho$ ‘Ü¶ ‘|

 (B) 40° Amoa 50° Ho$ ‘Ü¶ ‘|

 (C) 50° Amoa 60° Ho$ ‘Ü¶ ‘|

 (D) 60° Amoa 70° Ho$ ‘Ü¶ ‘|

029. {ZåZ ‘| go H$m¡Z gm H$WZ AgË` h¡ ?

 (A)  EH$ hr AmYma na Am¡a EH$ hr g‘mÝVa 

aoImAm| Ho$ ~rM ~Zo {Ì^wO joÌ’$b ‘| ~am~a 

hmoVo h¢&

 (B)  g‘MVw^w©O Ho$ {dH$U© EH$ Xygao H$mo g‘H$moU 

na {Û^m{OV H$aV| h¡&

 (C)  Am`V Ho$ {dH$U© EH$ Xygao H$mo g‘H$moU na 

{Û^m{OV H$aV| h¡&

 (D)  {Ì^wO ‘| erfm] go gm‘Zo H$s ^wOmAm| na S>mbo 

J`o bå~ g§Jm‘r hmoVo h¢& 

Paper 6 (Numerial Aptitude)
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030. The sum of all solutions of the equation 

tan	2θ	=	tan	
2

i 	in	the	interval	[0,	2π]	is

	 (A)	 π	 (B)	 2π

	 (C)	 3π	 (D)	 4π

031. The expression 

  6 cos5θ		sinθ	–	20cos3θ		sin3	θ	+	6	cosθ		sin5θ

 equals

	 (A)	 cos4θ	 (B)	 cos6θ	

	 (C)	 sin4θ	 (D)	 sin6θ

032.	 The	sides	of	ΔABC	are	a	=	4,	b	=	6,	c	=	8.	

Then tan
c
2

 is 

 (A) 
3
5

 (B) 2

 (C) 
3
7

 (D) 3

033.	 	In	a	ΔABC,	the	value	of	

 
cos cos cos

sin sin sin
A B C

A B C

2 2 2

+ +
 

 is

 (A) 1 (B) 2

 (C) 4 (D) 6

034. The 12th term of the sequence 2,6,12,20,30,

… , is 

 (A) 110 (B) 132

 (C) 156 (D) 182

030. A§Vamb [0,	2π]> ‘| g‘rH$aU tan	2θ	=	tan	
2

i  Ho$ 

g^r hbm| H$m `moJ h¡  

	 (A)	 π	 (B)	 2π

	 (C)	 3π	 (D)	 4π

031. ì`§OH$  

  6 cos5θ		sinθ	–	20cos3θ		sin3	θ	+	6	cosθ		sin5θ

 ~am~a h¡

	 (A)	 cos4θ	 (B)	 cos6θ	

	 (C)	 sin4θ	 (D)	 sin6θ

032. ΔABC H$s ^wOmE± a = 4, b = 6, c = 8 h¢& V~ 

tan
c
2

 h¡  

 (A) 
3
5

 (B) 2

 (C) 
3
7

 (D) 3

033. ΔABC ‘|,

  
cos cos cos

sin sin sin
A B C

A B C

2 2 2

+ +
 

 H$m ‘mZ h¡

 (A) 1 (B) 2

 (C) 4 (D) 6

034.  loUr 2,6,12,20,30, ... , H$m 12 dm§ nX   

 (A) 110 (B) 132

 (C) 156 (D) 182
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035. The number of possible integral values of n 

for which the equation  

 9x2 + 6nx + 2n2 –	4	=	0

 has real roots, is

 (A) 5 (B) 4

 (C) 3 (D) 2

036. The sum of real and imaginary parts of the 

complex number

 
2 3

(2 3 )

2 3

(2 3 )

i

i

i

i
2 2

-

+
-

+

-; E
 is

 (A) 
13
16

 (B) 
13
18

 (C) 
13
19

 (D) 
13
21

037. The letters of the word ‘MEDICINE’ are 

arranged in such a way that no two consonants 

are together. The number of ways this can be 

done is

 (A) 120 (B) 360

 (C) 720 (D) 2880

038. In a 30 year period the rural population of a 

country increased by 10% whereas the urban 

population increased by 30% during the same 

period. If total population of the country 

increased by 16% during this period, the ratio 

of urban population to rural population is 

 (A) 3:7 (B) 4:6

 (C) 4:8 (D) 3:9

035. n Ho$ g§^m{dV nyUmªH$ ‘mZm| H$s g§»`m {OZHo$ {bE 

g‘rH$aU

  9x2 + 6nx + 2n2 –	4	=	0

 Ho$ dmñV{dH$ ‘yb h¢, h¡

 (A) 5 (B) 4

 (C) 3 (D) 2

036. gpå‘l g§»`m 
2 3

(2 3 )

2 3

(2 3 )

i

i

i

i
2 2

-

+
-

+

-; E Ho$ 

 dmñV{dH$ Am¡a H$mën{ZH$ ^mJm| H$m `moJ h¡

 (A) 
13
16

 (B) 
13
18

 (C) 
13
19

 (D) 
13
21

037. ‘MEDICINE’ eãX Ho$ Ajam| H$mo Bg Vah go 

ì`dpñWV {H$`m J`m h¡ {H$ H$moB© Xmo ì`§OZ EH$ 

gmW Zht h¢²& Bgo H$aZo Ho$ VarH$m| H$s g§»`m h¡

 (A) 120 (B) 360

 (C) 720 (D) 2880

038. 30 gmb H$s Ad{Y ‘| {H$gr Xoe H$s J«m‘rU Am~mXr 

‘| 10% H$s d¥{Õ hþB© O~{H$ Cgr Ad{Y ‘| ehar 

Am~mXr ‘| 30% H$s d¥{Õ hþB©²& `{X Bg Ad{Y Ho$ 

Xm¡amZ Xoe H$s Hw$b OZg§»`m ‘| 16% H$s d¥{Õ hþB©, 

Vmo ehar Am~mXr Am¡a J«m‘rU Am~mXr Ho$ ~rM H$m 

AZwnmV h¡ 

 (A) 3:7 (B) 4:6

 (C) 4:8 (D) 3:9
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039. The number of positive integers less than 100 

which are not divisible by 2, 3, or 5 is

 (A) 26 (B) 27

 (C) 28 (D) 29

040. Harish spends 40% of his salary on food, 

30% on house rent and 12.5% on clothes.  

If he is left with Rs. 14000, then his total 

salary is 

 (A) 60000 (B) 80000

 (C) 90000 (D) 100000

041. A car travels 240 km in 6 hours. It travels 

partly at a speed of  60 km/hr and partly at a 

speed of 30 km/hr. Then the time (in hours) it 

travels at speed of 30 km/hr is

 (A) 2 (B) 3

 (C) 4 (D) 5

Direction (42-44): Study the given table and answer 

the questions based on it.

Enrolment of students (girls & boys) and 

percentage of girls among them over 5 years in 

different disciplines of an institute.

Disci-

plines

PHYSICS CHEMISTRY MATHEMATICS

Year Percent-

age of 

Girls

Total 

Students

Percent-

age of 

Girls

Total 

Students

Percent-

age of 

Girls

Total 

Students

2014 30 250 60 260 40 280

2015 40 320 45 240 35 320

2016 45 340 50 250 40 300

2017 35 320 35 220 45 340

2018 50 350 35 240 40 315

039. 100 go H$‘ YZmË‘H$ nyUmªH$m| H$s g§»`m Omo 2,3, 
`m 5 go {d^mÁ` Zht h¡

 (A) 26 (B) 27
 (C) 28 (D) 29

040. hare AnZo doVZ H$m 40% ^moOZ na, 30% Ka 
Ho$ {H$am`o na Am¡a 12.5% H$n‹S>o na IM© H$aVo h¢²& 
`{X CgHo$ nmg 14000 én`o ~MVo h¢, V~ CgH$m 
Hw$b doVZ h¡

 (A) 60000 (B) 80000
 (C) 90000 (D) 100000

041. EH$ H$ma 6 K§Q>o ‘| 240 {H$‘r H$m g’$a V` H$aVr 
h¡& `h Hw$N> Xyar 60 {H$‘r/K§Q>m H$s J{V go Am¡a 
Hw$N> Xyar 30 {H$‘r/K§Q>m H$s J{V go `mÌm H$aVr h¡& 
{’$a dh g‘` (K§Q>o ‘|) {Og‘| `h 30 {H$‘r /K§Q>m 
H$s J{V go `mÌm H$aVr h¡, h¡

 (A) 2 (B) 3
 (C) 4 (D) 5

{ZX}e (42-44): {ZåZ gmaUr H$m AÜ``Z H$a| Am¡a CgHo$ 
AmYma {XE JE àým| Ho$ CÎma X|&  

EH$ g§ñWmZ Ho$ {d{^Þ {df`m| ‘| {nN>bo 5 dfm| ‘|  N>mÌm| 
(b‹S>{H$`m| Am¡a b‹S>H$m|) H$m Zm‘m§H$Z Am¡a CZHo$ ‘Ü` 
b‹S>{H$`m| H$m à{VeV&

{df` ^m¡{VH$ {dkmZ agm`Z {dkmZ J{UV

df© b‹S>{H$`m| H$m 
à{VeV

Hw$b N>mÌ b‹S>{H$`m| H$m 
à{VeV

Hw$b N>mÌ b‹S>{H$`m| H$m 
à{VeV

Hw$b N>mÌ

2014 30 250 60 260 40 280

2015 40 320 45 240 35 320

2016 45 340 50 250 40 300

2017 35 320 35 220 45 340

2018 50 350 35 240 40 315
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042. What was the average of number of girls in of 

all disciplines in the year 2015? 

 (A) 116 (B) 120

 (C) 124 (D) 128

043. What was the ratio between the number 

of girls and number of total students in 

Chemistry during the given years? 

 (A) 3:11 (B) 4:11

 (C) 5:11 (D) 6:11

044. What was ratio of number of girls and boys 

of all disciplines in the year 2018? 

 (A) 71:104 (B) 73:104

 (C) 75:104 (D) 77:104

Direction (45-47): The pie chart given below shows 

the expenses of a student on various items.  Study the 

chart and answer the questions based on it.

TF Tuition Fee

SF School Fee

BE Boarding 

Expenses

TE Transportation 

Expenses

PE Personal Expenses

ST Stationeries & 

Textbooks

042. df© 2015 ‘| g^r {df`m| ‘| b‹S>{H$`m| H$s g§»`m 

H$m Am¡gV Š`m Wm?

 (A) 116 (B) 120

 (C) 124 (D) 128

043. {XE JE dfm] Ho$ Xm¡amZ agm`Z {dkmZ ‘| b‹S>{H$`m| 

H$s g§»`m Am¡a Hw$b N>mÌm| H$s g§»`m Ho$ ~rM H$m 

AZwnmV Š`m Wm?

 (A) 3:11 (B) 4:11

 (C) 5:11 (D) 6:11

044. df© 2018 ‘| g^r {df`m| H$s b‹S>{H$`m| Am¡a b‹S>H$m| 

H$s g§»`m H$m AZwnmV Š`m Wm?

 (A) 71:104 (B) 73:104

 (C) 75:104 (D) 77:104

{ZX}e (45-47): ZrMo {X`m J`m nmB© MmQ>© {d{^Þ ‘Xm| na 

EH$ N>mÌ Ûmam {H$E JE IM© H$mo Xem©Vm h¡& MmQ>© H$m 

AÜ``Z H$a| Am¡a CgHo$ AmYma na àým| Ho$ CÎma X|&

EH$ N>mÌ H$m ‘m{gH$ IM© TF Q>çyeZ ’$sg

SF ñHy$b H$s ’$sg

BE ^moOZ Am¡a ahZo IM©

TE `mVm`mV IM}

PE ì`{º$JV IM}

ST boIZ-gm‘J«r  

nmR>çnwñVH|$
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045. If the amount spend on stationary& textbooks 

was Rs. 5400, then what was the amount 

spend on transportation? 

 (A) 7400 (B) 7600

 (C) 7800 (D) 8000

046. School fee is what percent of tuition fee? 

 (A) 47% (B) 48%

 (C) 49% (D) 51%

047. If the total monthly expenses were Rs.  

60000 then the money spent on boarding and 

personal expenses was: 

 (A) 24600 (B) 24800

 (C) 25000 (D) 25200

Direction (48-50): Study the following graph to 

answer the given questions. The graph provides the 

percentage	of	profit	earned	by	the	two	firms	X	and	Y	

from	2014	–	2018.

Percentage	of	Profit	=		
 (Income-Expenditure) 

Expenditure
 ×100

045. `{X boIZ-gm‘J«r Am¡a nmR>çnwñVH$m| na IM© H$s 

JB© am{e 5400 énE Wr, Vmo n[adhZ na IM© H$s JB© 

am{e Š`m Wr?

 (A) 7400 (B) 7600

 (C) 7800 (D) 8000

046. ñHy$b H$s ’$sg Q>çyeZ ’$sg H$m {H$VZm à{VeV h¡?

 (A) 47% (B) 48%

 (C) 49% (D) 51%

047. `{X Hw$b ‘m{gH$ IM© ê$n`o 60000 Wo Vmo ~mo{Sª>J 

Am¡a ì`{º$JV IM© na IM© {H$`m J`m YZ Wm:

 (A) 24600 (B) 24800

 (C) 25000 (D) 25200

{ZX}e (48-50): {XE JE àým| H$m CÎma XoZo Ho$ {bE 

{ZåZ{bpIV MmQ>© H$m AÜ``Z H$a|& MmQ>© ‘| df© 

2014 go 2018 VH$ Xmo H§$n{Z`m| X Am¡a Y Ûmam 

A{O©V à{VeV bm^ {X`m J`m h¡ &

à{VeV bm^ =  
Am`-ì``

ì¶¶
 ×100
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048.	 Ratio	 of	 expenditures	 of	 firms	 X	 and	Y	 in	

2016 was 4:5. What was the ratio of their 

income in the same year?

 (A) 26:35 (B) 25:34

 (C) 24:34 (D) 23:36

049.	 If	 the	 income	 of	 	X	 in	 2017	&	 18	were	 in	

the ratio of 3:4 then what was the ratio of the 

expenditures	of	the	firm	X	in	these	years?

 (A) 5:9 (B) 6:11

 (C) 7:10 (D) 7:9

050.	 If	the	income	of	X	in	2014	was	equal	to	the	

expenditures of Y in 2015, what was the ratio 

of	their	respective	profits	in	these	two	years?	

 (A) 1:1 (B) 10:13

 (C) 11:15 (D) 13:15

048. 2016 ‘| H§$nZr X Am¡a Y Ho$ ì`` H$m AZwnmV 

4:5 Wm& Cgr df© CZH$s Am` H$m AZwnmV Š`m Wm?

 (A) 26:35 (B) 25:34

 (C) 24:34 (D) 23:36

049. `{X 2017 Am¡a 18 ‘| X H$s Am` 3: 4 Ho$ AZwnmV 

‘| Wr, Vmo BZ dfm] ‘| H§$nZr X Ho$ ì`` H$m AZwnmV 

Š`m Wm?

 (A) 5:9 (B) 6:11

 (C) 7:10 (D) 7:9

050. `{X 2014 ‘| X H$s Am` 2015 ‘| Y Ho$ ì`` Ho$ 

~am~a Wr, Vmo BZ dfm] ‘| CZHo$ bm^ H$m AZwnmV Š`m 

Wm?

 (A) 1:1 (B) 10:13

 (C) 11:15 (D) 13:15
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051. In a certain code JOSEPH is written as 

FKOA LD. In the same code GEORGE will 

be written as:

 (A ) C ADMNO (B) CA KNIT

 (C) CA KNCA  (D) JA KINS

052. In a certain language, "123' means "bright 

little boy', "145' means "tall big boy' and 

"637'	means	 "beautiful	 litter	flower'.	Which	

digit in that language means "bright'?

 (A ) 2 (B) 3

 (C) 1 (D) 6

053. Raju is brother of Ravi, Rekha is sister of 

 Atul. Ravi is son of Rekha. How is Raju 

related to Rekha?

 (A ) Son (B) Brother

 (C) Daughter (D) Sister

054. One boy tells the other that there are two boys 

in front of me. The other one also shouted 

that he too had two behind him. How many 

are they?

 (A ) 6 (B) 5

 (C) 4 (D) 3

055. Mohan ranks sixteenth from the top and forty 

ninth from the bottom in a class. How many 

students are there in the class?

 (A )  65 (B) 64

 (C) 66 (D) 63

051. EH$ Hy$Q> ‘| JOSEPH H$mo FKOA LD {bIm J`m 

h¡& Cgr Hy$Q> ‘| GEORGE H$mo {bIm Om`oJm:

 (A ) C ADMNO (B) CA KNIT

 (C) CA KNCA  (D) JA KINS

052. EH$ ^mfm ‘| "123' go VmËn`© h¡ VoO N>moQ>m b‹S>H$m', 

"145' go VmËn`© h¡ bå~m ~‹S>m b‹S>H$m VWm "637' 

go VmËn`© h¡ gw§Xa N>moQ>m ’y$b & Cg ^mfm ‘| {H$g A§H$ 

H$m VmËn`© VoO h¡?

 (A ) 2 (B) 3

 (C) 1 (D) 6

053. amOy a{d H$m ^mB© h¡, aoIm AVwb H$s ~hZ h¡, a{d 

aoIm H$m nwÌ h¡ & amOy aoIm go H¡$go gå~pÝYV h¡?

 (A ) nwÌ  (B) ^mB©

 (C) nwÌr (D) ~hZ

054. EH$ b‹S>H$m Xygao b‹S>Ho$ go H$hVm h¡ {H$ ‘oao gm‘Zo Xmo 

b‹S>Ho$ h¢ & EH$ Xygam b‹S>H$m {M„mVm h¡ {H$ CgHo$ 

nrN>o ^r Xmo b‹S>Ho$ h¢ & Hw$b {H$VZo b‹S>Ho$ h¢?

 (A ) 6 (B) 5

 (C) 4 (D) 3

055. H$jm ‘| ‘mohZ H$m a¢H$ D$na go 16dm± VWm ZrMo go 

49dm± h¡ & H$jm ‘| {H$VZo {dÚmWu h¢? 

 (A ) 65 (B) 64

 (C) 66 (D) 63

Paper 6 (Thinking and Decision Making)
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056. Sanjay walks 10 km towards North. From 

there he walks 6 km towards South. Then, 

he walks 3 km towards East. How far and in 

which direction is he with reference to his 

starting point?

 (A ) 6 km West 

 (B) 7 km West 

 (C) 7 km East 

 (D) 5 km North-East

Directions for Q.57 Q.58: There is a certain relation 

between two given words on one side of : : and one 

word is given on another side of : : while another 

word is to be found from the given alternatives, 

having the same relation with this word as the words 

of the given pair bear. Choose the best alternative. 

057. Girl : Beautiful : : Boy : ?

 (A ) Smart (B) Heroic

 (C) Courageous (D) Handsome

058. Touch : Feel : : Greet : ?

 (A ) Smile 

 (B) Manners

 (C) Acknowledge 

 (D) Success

059. 4, 23, 60, 121, the next number is:

 (A ) 212 (B) 221

 (C) 241 (D) 242

056. g§O` CÎma H$s Va’$ 10 {H$‘r. MbVm h¡ & dhm± go 

dh X{jU H$s Va’$ 6 {H$‘r. MbVm h¡, V~ dh 3 

{H$‘r nyd© H$s Va’$ MbVm h¡ & Ama§{^H$ q~Xw go A~ 

dh {H$VZr Xya VWm {H$g {Xem ‘| h¡? 

 (A )  6 {H$‘r. n{ü‘ H$s Va’$

 (B) 7 {H$‘r. n{ü‘ H$s Va’$

 (C) 7 {H$‘r. nyd© H$s Va’$

 (D) 5 {H$‘r. CÎma-nyd© H$s Va’$

à.57 Ed§ à. 58 hoVw {Xem {ZX}e: {MÝh ""::'' Ho$ EH$ Va’$ 

{XE J`o Xmo eãXm| Ho$ ~rM EH$ gå~ÝY h¡ VWm ""::'' {MÝh 

Ho$ Xygar Va’$ EH$ eãX {X`m J`m h¡, O~{H$ Xygao eãX H$mo 

ZrMo {XE J`o {dH$ën ‘| go àmá H$aZm h¡ {OgH$m gå~ÝY Bg 

eãX go Cgr àH$ma H$m hmo O¡gm {XE J`o Omo‹S>o eãXm| ‘| h¡ & 

ghr {dH$ën N>m§Q>o.

057. bS>H$s : Iy~gyaV :: b‹S>Ho$ : ? 

 (A ) ~w{Õ‘mZ (B) ~hmXwa

 (C) {Z^©` (D) gwÝXa

058. ñne© : g§doXZm: : A{^dmXZ : ?

 (A ) ‘wñH$amZm 

 (B) {eï>mMma

 (C) Am^ma àH$Q> H$aZm 

 (D) g’$bVm

059. l¥§Ibm 4, 23, 60, 121, ................. ‘| 

AJbr g§»`m Š`m hmoJr?

 (A ) 212 (B) 221

 (C) 241 (D) 242
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060. If book is called watch, watch is called bag, 

bag is called dictionary and dictionary is 

called window, which is used to carry the 

books?

 (A ) Bag (B) Watch

 (C) Dictionary (D) Book

Directions for Q.61 Q.62: Read the following 

information carefully and answer the questions that 

follow:

A , B, C, D, E, and F are seated in a circle facing the 

centre. D is between F and B. A is second to the left 

of D and second to the right of E.

061. Who is facing  A ?

 (A ) D (B) B

 (C) Either F or B (D) F 

062. Who is facing D?

 (A ) C (B) A

 (C) E (D) None of these

063.  A party consists of grandmother, father, 

mother, four sons and their wives and one son 

and two daughters to each of the sons. How 

many females are there in all?

 (A ) 14  (B) 16

 (C) 18 (D) 24

060. `{X nwñVH$ H$mo K‹S>r H$hm OmE, K‹S>r H$mo ~¡J H$hm 

Om`, ~¡J H$mo eãXH$mof H$hm Om` Am¡a eãXH$mof 

H$mo pI‹S>H$s H$hm Om` Vmo nwñVH$m| H$mo aIZo Ho$ {bE 

{H$gH$m à`moJ {H$`m OmEJm?

 (A ) ~¡J (B) K‹S>r

 (C) eãXH$mof  (D) nwñVH$

à.61 Ed§ à.62 hoVw {Xem {ZX}e: {ZåZ{bpIV gyMZm H$mo 

Ü`mZnyd©H$ n‹T>o Am¡a CgHo$ gmW {XE J`o àým| H$m CÎma Xr{OE:

A , B, C, D, E, Am¡a F H|$Ð H$s Va’$ ‘wh± H$aHo$ EH$ Jmobo ‘| 

~¡R>o hþE h¢ & F Ed§ B Ho$ ~rM ‘| D h¡  A, D Ho$ ~m`t Amoa go 

Xygam VWm E Ho$ Xm`t Amoa go Xygam h¡ &

061. A Ho$ gm‘Zo H$m¡Z h¡?

 (A ) D (B) B

 (C) `m Vmo F `m B  (D) F

062.  D Ho$ gm‘Zo H$m¡Z h¡?

 (A ) C  (B) A

 (C) E  (D) BZ‘| go H$moB© Zht

063. EH$ nmQ>u ‘| XmXr, {nVm, ‘mVm, Mma nwÌ Am¡a CZH$s 

npËZ`m± VWm àË`oH$ nwÌ H$m EH$ nwÌ Ed§ Xmo nw{Ì`m± h¢& 

Cg nmQ>u ‘| Hw$b {H$VZr ‘{hbm`| h¢?

 (A) 14  (B) 16

 (C) 18 (D) 24
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Directions for Q.64 to Q.67:	 In	 the	 given	 figure	

below there are three intersecting circles each 

representing certain section of people. Different 

regions are marked a to g. Read the statements in each 

of the following questions and choose the letter of 

the region which correctly represents the statement. 

BA

a b f

Painter

Chinese

Musicians

c
d e

g

C

064. Chinese who are painters but not musicians?

 (A ) b (B) c

 (C) d (D) g

065. Painters who are neither Chinese nor 

musicians?

 (A ) b (B) c

 (C) f (D) g

066. Chinese who are musicians but not painters?

 (A ) d (B) c

 (C) b (D)  a

067. Chinese who are painters as well as 

musicians?

 (A ) a (B) b

 (C) c (D) d

à. 64 go à. 67 hoVw {Xem {ZX}e: ZrMo {XE J`o {MÌ ‘| VrZ 

Jmobo EH$ Xygao H$mo H$mQ>Vo hþE h¢ Omo EH$ {Z{üV dJ© Ho$ g‘yh 

H$mo Xem© aho h¢ & {d{^Þ joÌm| H$mo a go g VH$ A§{H$V {H$`m 

J`m h¡ & {ZåZ{bpIV àým| ‘| {XE J`o H$WZm| H$mo n‹T>o VWm 

H$WZ H$mo ghr àH$ma go àX{e©V H$aZo dmbo eãX H$mo MwZ| &

BA

a b f

Painter

Chinese

Musicians

c
d e

g

C

064. MrZr Omo n|Q>a h¢, bo{H$Z g§JrVH$ma Zht h¢?

 (A ) b (B) c

 (C) d (D) g

065. n|Q>a Omo Zm Vmo MrZr h¡ Zm hr g§JrVH$ma?

 (A ) b (B) c

 (C) f (D) g

066. MrZr Omo g§JrVH$ma h¡ bo{H$Z n|Q>a Zht h¡?

 (A ) d (B) c

 (C) b (D) a

067. MrZr Omo n|Q>a Ho$ gmW-gmW g§JrVH$ma h¡?

 (A ) a (B) b

 (C) c (D) d
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Directions for Q.68 Q.69: In each of these questions 

one statement has been given followed by four 

inferences  A, B, C and D. Find out the inference that 

definitely	follows	from	the	given	statement.

068. A ll the students passed the examination. 

Some of the students are girls.

 (A )  Some of the boys passed the exam

 (B)  None of the boys passed the exam

 (C) No girls students failed the exam

 (D)  All girls student failed in the exam

069. Some leaders like Rajesh are corrupt

 (A )  Rajesh is not corrupt

 (B)  Leaders are corrupt

 (C)  Rajesh is sometime not corrupt

 (D)  Some leaders are corrupt

Directions for Q.70 Q.71: In these questions four 

numbers are given. Select the one which is different 

from the other three.

070. (A ) 1754 (B) 2690

 (C) 7324 (D) 9611

071. (A ) 27 (B) 66

 (C) 83 (D) 17

à.68 Ed§ à.69 hoVw {Xem {ZX}e: BZ àým| ‘| EH$ H$WZ 

{X`m J`m h¡ {OgHo$ Mma {ZîH$f© A, B, C Ed§ D {XE J`o h¢& 

Cg {ZîH$f© H$mo ~VmBE Omo {XE JE H$WZ H$m {Z{üV ê$n go 

AZwgaU H$aVm h¡ &

068. g^r {dÚm{W©`m| Zo narjm nmg H$a br h¡ & Hw$N> 

{dÚmWu b‹S>{H$`m§ h¢ &

 (A ) Hw$N> b‹S>H$m| Zo narjm nmg H$s h¡ 

 (B) {H$gr bS>Ho$ Zo narjm nmg Zht H$s 

 (C) H$moB© b‹S>H$s narjm ‘| ’o$b Zht hþB©

 (D) g^r b‹S>{H$`m§ narjm ‘| ’o$b hmo J`r

069. amOoe O¡go Hw$N> ZoVm ^«ï> h¢ &

 (A ) amOoe ^«ï> Zht h¡

 (B) ZoVm ^«ï> h¢

 (C) amOoe Hw$N> g‘` ^«ï> Zht h¡

 (D) Hw$N> ZoVm ^«ï> h¢ 

 

à.70 Ed§ à.71 hoVw {Xem {ZX}e: BZ àým| ‘| Mma g§»`mE§ Xr 

J`r h¢ & BZ‘| go Cg EH$ g§»`m H$mo àmá H$s{OE Omo ~m{H$`m| 

go AbJ h¡ &

070. (A ) 1754 (B) 2690

 (C) 7324 (D) 9611

071. (A ) 27 (B) 66

 (C) 83 (D) 17



6-AA ] [ 17 ] [ P.T.O.

UU
UU
UU
UU
UU
UU
UU
UU
UU
UU
UU
UU
UU

072. Five boys participated in a competition. Rohit 

was ranked lower than Sanjay. Vikas was 

ranked higher than Dinesh. Kamal's rank was 

between Rohit and Vikas. Who was ranked 

highest?

 (A ) Sanjay (B) Vikas

 (C) Dinesh (D) Kamal

073. If DELHI is coded as 73541 and C ALCUTTA  

as 82589662. How can CA LICUT be coded?

 (A ) 8251896 (B) 5279431

 (C) 5978213 (D) 8543691

074. Look at this series 56, 72, 90, 110, 132, 150, 

one term in this series is wrong. Find out the 

wrong term.

 (A ) 70 (B) 90

 (C) 110 (D) 150

075. In a group of buffaloes and ducks, the 

numbers of legs are 24 more than twice the 

number of heads. What is the number of 

buffaloes in the group?

 (A ) 10 (B) 12

 (C) 6 (D) 8

072. EH$ à{VñnYm© ‘| nm±M bS>H$m| Zo ^mJrXmar {b`m & 

amo{hV H$m a¢H$ g§O` go ZrMo Wm & {dH$mg H$m a¢H$ 

{XZoe go D$na Wm & H$‘b H$m a¢H$ amo{hV Ed§ {dH$mg 

Ho$ ~rM Wm & BZ‘o go g~go D$na a¢H$ {H$gH$m Wm ? 

 (A ) g§O` (B) {dH$mg

 (C) {XZoe  (D) H$‘b

073. `{X {X„r H$mo Hy$Q> ̂ mfm ‘| 73541 {bIm J`m h¡ VWm 

H$bH$Îmm H$mo 82589662, Vmo H$mbrH$Q> H$mo H¡$go Hy$Q> 

{H$`m Om gH$Vm h¡?

 (A ) 8251896 (B) 5279431

 (C) 5978213 (D) 8543691

074. Bg l¥§Ibm H$mo XoI| 56, 72, 90, 110, 132, 150, 

Bg l¥§Ibm ‘| EH$ g§»`m JbV h¡ & JbV g§»`m H$mo 

àmá H$a| 

 (A ) 70 (B) 90

 (C) 110 (D) 150

075. EH$ ^¡gm| Ed§ ~ÎmIm| Ho$ g‘yh ‘|, n¡am| H$s g§»`m 

XmoJwZo {ga H$s g§»`m go 24 Á`mXm h¢ & Bg g‘yh ‘| 

^¢gm| H$s g§»`m {H$VZr h¡?

 (A ) 10 (B) 12

 (C) 6 (D) 8
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076. What is the ranking of India in World Bank’s 

Doing Business (DB) for 2019 globally?

 (A) 77th (B) 123rd

 (C) 45th (D) 89th

077. Who is the winner of Dada Saheb Falke 

Award 2018?

 (A) Dahrmendra 

 (B) Kader Khan

 (C) Vinod Khanna

 (D) Shashi Kapoor

078. Who won the best actress award in 65th 

national film festival 2018?

 (A) Divya Dutta

 (B) Dipika Padukone 

 (C) Sri Devi

 (D) Kangana Raut

079. What is the total number of medals won by 

Indian in Common wealth Games 2018 held 

in Queensland Australia?

 (A) 64 (B) 65

 (C) 63 (D) 66

080. Which of the following Indian company 

becomes the first to reach 100 billion dollar 

market capitalization?

 (A) TCS 

 (B) WIPRO

 (C) INFOSYS

 (D) MAHINDRA AND MAHINDRA

076. g§gma ‘| 2019 ‘| ^maV H$m {díd ~¢H$ H$m ì¶mnma 

H$aZo ‘| H$m¡Z gm ñWmZ h¡&

 (A ) 77 dm± (B) 123 dm±

 (C) 45 dm± (D) 89 dm±

077. XmXm gmh~ ’$mbHo$ nwañH$ma 2018 H$m {dOoVm H$m¡Z 

h¡&

 (A ) Y‘}ÝÐ 

 (B) H$mXaImZ

 (C) {dZmoX IÝZm 

 (D) e{e H$nya

078. 65 d| amîQ´>r¶ {’$ë‘ g‘moamh 2018 ‘| {H$go gd©loîR> 

A{^ZoÌr H$m nwañH$ma {X¶m J¶m h¡&

 (A ) {Xì¶m XÎmm 

 (B) Xr{nH$m nmXþH$moZ

 (C) lrXodr 

 (D) H§$JZm amCV

079. ³dtgb¡S>, Am°ñQ´>o{b¶m go gånÝZ hþE H$m‘ZdoëW 

Joåg 2018 ‘| ^maV H$mo Hw$b {H$VZo nXH$ {‘bo h¡&

 (A ) 64 (B) 65

 (C) 63 (D) 66

080. Bg‘| ‘| {H$g ^maVr¶ H$ånZr ‘| 100 billion S>mba 

H$m ~mOma ny§OrH$aU àmßV {H$¶m h¡&

 (A ) Q>r.gr.Eg. 

 (B) {dàmo

 (C) BZ’$mo{gg 

 (D) ‘qhÐm Am¡a ‘qhÝÐm

Paper 6 (General Awareness)
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081. Which city is recorded as the most polluted 

megacity in the world by the World Health 

Organization (WHO)?

 (A) Cairo (B) Beijing

 (C) Delhi (D) Hong Kong

082. Which company has purchased 77 % stock in 

Indian e- commerce company Flipcart?

 (A) Amazon (B) Alibaba

 (C) Walmart (D) Tata

083. Which of the following player scored the first 

hatrick goals in FIFA world cup 2018?

 (A) Cristiano Ronaldo

 (B) Luis Suarez

 (C) Lionel Messi

 (D) Diego Costa

084. Which country has recently withdrawn from 

the Human rights commission?

 (A) Germany

 (B) United Kingdom

 (C) Russia

 (D) United States of America

085. According to the World Bank report 2017, 

India presents the world’s ------ largest 

economy.

 (A) 4th (B) 5th

 (C) 6th (D) 7th

081. {díd ñdmñW g§JR>Z Ûmam ~‹S>o eha H$mo gdm©{YH$ 

àXÿ{fV ~Vm¶m J¶m h¡&

 (A ) H$m¶amo (B) ~rqOJ

 (C) {Xëbr (D) hm§JH$m§J

082. {H$g H$ånZr Zo 77% ^mJoXmar ^maVr¶ B-H$m‘©g 

H$ånZr pâbnH$mS>© ‘| IarXr h¡&

 (A ) A‘oOZ (B) Abr~m~m

 (C) dmb‘mQ>© (D) Q>mQ>m

083. BZ‘| go {H$g {Ibm‹S>r Zo ’$s’$m {dídH$n ’w$Q>~mb 

2018 ‘| h¡{Q´>H$ Jmob {H$¶o h¡&

 (A ) {H«$pñQ>¶mZmo amoZmëS>mo

 (B) bwBg gwAmaoO

 (C) {b¶moZob ‘ogr 

 (D) {S>¶mJmo H$moñQ>m

084. {H$g Xoe Zo hmb hr ‘| AnZo H$mo ‘mZd A{YH$ma go 

AbJ H$a {b¶m h¡&

 (A ) O‘©Zr 

 (B) ¶yZmBQ>oS> qH$JS>‘

 (C) a{g¶m 

 (D) g§¶w³V amÁ¶ A‘o[aH$m

085. {díd ~¡H$ [anmoQ>© 2018 Ho$ AZwgma ^maV H$m ñWmZ 

{díd H$s g~go ~‹S>r AW©ì¶dñWm ‘| H$m¡Z gm h¡&

 (A ) 4 (B) 5

 (C) 6 (D) 7
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086. Which of the following is the first Indian 

state to have a national biofuel policy?

 (A) Madhya Pradesh

 (B) Rajasthan

 (C) Gujarat

 (D) Chhattisgarh

087. In which state, the national sports University is 

being set up under national sports University 

bill, 2017?

 (A) Goa (B) Kerala

 (C) Assam (D) Manipur

088. Which festival was celebrated to 

commemorate the two years of surgical strike 

by the Union Government?

 (A) Parakram Parv 

 (B) Sahas Parv

 (C) Virta parv

 (D) Vijay Parv

089. What was the theme of world tourism day 

2018?

 (A) Tourism and global transformation

 (B) Sustainable tourism

 (C) Tourism for all

 (D)  One billion tourist- one billion 

opportunities

086. BZ‘| go H$m¡Z gm nhbm ̂ maVr¶ amÁ¶ h¡ {Og‘| amîQ´>r¶ 

O¡d BªYZ Zr{V h¡&

 (A ) ‘Ü¶àXoe 

 (B) amOñWmZ

 (C) JwOamV 

 (D) N>ÎmrgJ‹T>

087. amîQ´>r¶ Iob {díd {dÚmb¶ A{Y{Z¶‘ 2017 Ho$ 

A§VJ©V {H$g amÁ¶ ‘| amîQ´>r¶ Iob {díd {dÚmb¶ 

ñWm{nV {H$¶m J¶m h¡&

 (A ) Jmodm (B) Ho$abm

 (C) Amgm‘ (D) ‘{Unwa

088. ^maV gaH$ma Ûmam Xmo df© H$m g{O©H$b ñQ´>mBH$ ‘ZmZo 

Ho$ {bE H$m¡Z gm CËgd ‘Zm¶m J¶m h¡&

 (A ) namH«$‘ nd© 

 (B) gmhg nd©

 (C) draVm nd© 

 (D) {dO¶ nd©

089. {díd n¶©Q>Z {Xdg 2018 H$m {df¶ ³¶m Wm&

 (A ) n¶©Q>Z Am¡a d¡pídH$ n[adV©Z

 (B) g§VV n¶©Q>Z

 (C) g~Ho$ {bE n¶©Q>Z

 (D) EH$ Aa~ n¶©Q>H$ - EH$ Aa~ Adga
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090. The name of three islands in Andaman’s 

namely Ross, Neil, and Havelock were 

changed recently as

 (A) Uday, Abhuday and Pragati

 (B) Netajee Subhash, Saheed and Swaraj

 (C) Bose, Sardar and Atal

 (D) Kabir, Rahim and Nanak

091. Which of the following state has merged 

Anand Mantralaya and Religion Department 

to create a new Department called 

‘Spirituality’?

 (A) Rajasthan 

 (B) Uttar Pradesh

 (C) Madhya Pradesh

 (D) Chhattisgarh

092. What was the NASA insight mission which 

landed on Mars in 2018?

 (A) To study fast radio broad

 (B) To study atmospheric structure

 (C) To study internal structure

 (D)  To study the possibility of future human 

habitation

090. A^r hmb hr ‘| AÝX‘mZ Ho$ Ûrn H«$‘e amg, Zrb 

Am¡a h¡dbmH$ Ûrn H$m Zm‘ ~XbH$a ¶h aI {X¶m 

J¶m h¡&

 (A ) CX¶, Aä¶wX¶ Am¡a àJ{V

 (B) ZoVmOr gw^mf, ehrX Am¡a ñdamO

 (C) ~mog, gaXma Am¡a AQ>b

 (D) H$~ra, ahr‘ Am¡a ZmZH$

091. BZ‘| go {H$g amÁ¶ ‘| AmZ§X ‘§Ìmb¶ Am¡a Y‘© {d^mJ 

H$mo {‘bmH$a Z¶m {d^mJ "AmÜ¶mË‘' ~Vm¶m h¡&

 (A ) amOñWmZ 

 (B) CÎma àXoe

 (C) ‘Ü¶ àXoe 

 (D) N>ÎmrgJ‹T>

092. Zmgm Ho$ BZgmBQ> {‘eZ ³¶m Wm Omo {H$ ‘§Jb na 

2018 ‘| CÎmam Wm&

 (A ) VoO ao{S>¶m ~«mS> H$m AÜ¶¶Z

 (B) dmVmdaU g§aMZm H$m AÜ¶¶Z

 (C) Am§V[aH$ g§aMZm H$m AÜ¶¶Z

 (D)  ̂ {dî¶ ‘o ‘mZd Ho$ ahZo H$s g§^mdZm H$m 

AÜ¶¶Z
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093. Which of the following schemes have 

been subsumed in the recently approved 

‘Ayushman	 Bharat’	 –	 National	 Health	
Protection Mission (AB-NHPM)?

 (A)  Rashtriya Swasthya Bima Yojana 

(RSBY)

 (B)  Senior Citizen Health Insurance Scheme 

(SCHIS)

 (C)  National Life Insurance Scheme

 (D) (A) & (B)

094. Which author has been honoured with 

the Jnanpith award in 2018 in the field of 

literature?

 (A) Arundhati Roy 

 (B) Krishna Sobti

 (C) Amtiav Ghosh

 (D) Manu Bhandari

095. Which of the following two countries 

launched the digital collaboration plaza 

“SIDCOP”?

 (A) India and Sri Lanka

 (B) India and China

 (C) Indian and South Africa

 (D) Indian and South Korea

096. Who has become the first player in history to 

win ICC Cricketer of the Year, ICC Test, and 

the ODI Player of the Year awards in 2018?

 (A) Rahul Dravid

 (B) Virat Kohli 

 (C) Gautam Gambhir

 (D) M S Dhoni

093. BZ‘| go H$m¡Z gr ¶moOZm(E§) hmb hr ‘| AZw‘mo{XV 
Am¶wî‘mZ ^maV - amîQ´>r¶ ñdmñÏ¶ g§ajU {‘eZ ‘| 
{‘bm Xr J¶r h¡&

 (A ) amîQ´>r¶ ñdmñW ~r‘m ¶moOZm

 (B) d[aîR> ZmJ[aH$ ñdmñÏ¶ ~r‘m ¶moOZm

 (C) amîQ´>r¶ OrdZ ~r‘m ¶moOZm

 (D) (A) & (B)

094. 2018 Ho$ kmZnrR> nwañH$ma go {H$gH$m gå‘m{ZV 
{H$¶m J¶m h¡&

 (A ) Aé§YVr am¶ 

 (B) H¥$îUm gmo~Vr
 (C) A{‘Vmd Kmof 

 (D) ‘Zw ^§S>mar

095. BZ‘o  ‘| {H$g Xmo Xoemo Zo {S>{OQ>b gh¶moJ ßbmOm 
SIDCOM H$m àjonU {H$¶m h¡&

 (A ) ^maV Am¡a lrb§H$m
 (B) ^maV Am¡a MmBZm
 (C) ^maV Am¡a X{jU A’«$sH$m
 (D) ^maV Am¡a X{jU H$mo[a¶m

096. BZ‘o ‘| H$m¡Z gm B{Vhmg ‘| àW‘ {Ibm‹S>r h¡ Omo 
{Oggo {H«$Ho$Q>a Am°’$ {X B¶a ICC Q>oñQ> Am¡a dZ S>o 
nwañH$ma 2018 ‘| {X¶m J¶m h¡&

 (A ) amhþb Ð{dS> 
 (B) {damQ> H$mohbr
 (C) Jm¡V‘ J§^ra 
 (D) ‘.g. YmoZr
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097. The General Data Protection Regulation 

(GDPR) is associated with which of the 

following organization?

 (A) World Trade Organization

 (B) European union

 (C) International Monetary fund

 (D) World health Organization

098. Recently, 10 year challenge was a viral trend 

on social media. It is associated with which 

of the following?

 (A) Climate change

 (B) Job change

 (C) Freedom from illness

 (D) Facial recognition

099. Which of the following is associated with the 

term Edge TPU?

 (A) Artificial chip developed by Google

 (B) Artificial chip developed by Microsoft

 (C) Artificial chip developed by Apple

 (D) Artificial chip developed by Intel 

100. Base Erosion and Profit Sharing (BEPS) 

refers to

 (A)  Avoiding tax in a country where profit is 

made

 (B)  Domestic deposits credited to foreign 

nationals

 (C)  Increasing NPA of public sector backs to 

erode profit

 (D)  Transfer of revenue to its subsidiary to 

make profit

097. OZab S>mQ>m g§ajU A{Y{Z¶‘ {H$g g§JR>Z go 

g§~§{YV h¡&

 (A ) {díd ì¶mnma g§JR>Z

 (B) ¶wamonr¶ g§K

 (C) A§V©amîQ´>r¶ ‘wÐm H$moe

 (D) {díd ñdmñÏ¶ g§JR>Z

098. hmb ‘| 10 gmb H$m ‘wH$m~bm gm‘m{OH$ ‘r{S>¶m ‘| 

dmBab hþAm Wm& ¶h BZ‘o go {H$ggo gå~§{YV h¡&

 (A ) n¶m©daU n[adV©Z

 (B) Zm¡H$ar n[adV©Z

 (C) ~r‘mar go Nw>Q>H$mam

 (D) Mohao H$s nhMmZ

099. BZgo go H$m¡Z EO Q>rnr¶w go g§~{YV h¡ 

 (A ) H¥${Ì‘ {Mn JwJb Ûmam {dH${gV

 (B) H¥${Ì‘ {Mn ‘mBH«$mogmâQ> Ûmam {dH${gV

 (C) H¥${Ì‘ {Mn Enb Ûma {dH${gV

 (D) H¥${Ì‘ {Mn B§Q>ob Ûmam {dH${gV

100. ~og BamoOZ Am¡a àm{’$Q> eo¶[a¨J Bg‘| go {H$ggo 

gå~§{YV h¡&

 (A ) EH$ Xoe ‘| H$a H$mo Z XoVm Ohm± bm^ {‘bm hmo&

 (B) Xoer O‘m Omo {H$ {dXoer ì¶p³V H$mo {‘bm Xmo&

 (C)  npãbH$ go³Q>a ~¢H$ H$m EZnrE H$m ~‹T>Zm {Oggo 

hm{Z hmo

 (D)  amOñd H$m ñWmZmÝVaU EH$ gh¶moJr BH$mB© H$mo 

bm^ Ho$ {bE
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